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Централизованное тестирование по английскому языку, 2018

При выполнении заданий с кратким ответом впишите в поле для ответа цифру, которая
соответствует номеру правильного ответа, или число, слово, последовательность букв (слов) или
цифр. Ответ следует записывать без пробелов и каких-либо дополнительных символов. Так как на
экзамене распознавание апострофа в бланках ответов будет затруднено, записывайте ответ в
полной форме, например: donotknow, вместо don'tknow.

В заданиях, где нужно установить соответствие между двумя столбцами, ответ запишите в виде
сочетания букв и цифр, соблюдая алфавитную последовательность букв левого столбца.
Некоторые данные правого столбца могут использоваться несколько раз или не использоваться
вообще. Например: А1Б1B4Г2.

Если вариант задан учителем, вы можете вписать или загрузить в систему ответы к заданиям с
развернутым ответом. Учитель увидит результаты выполнения заданий с кратким ответом и
сможет оценить загруженные ответы к заданиям с развернутым ответом. Выставленные учителем
баллы отобразятся в вашей статистике.

My sister Edna, with all the advantages of youth, was, strangely enough, less tolerant. She
admitted that Robert had a good heart; but she couldn’t accept him, as my mother (1) ... him,
for my sake. Her narrow ideas what was ‘proper’ (2) ... sharply with Robert’s natural lack of
respect for appearances; and she (3) ... at her mother’s familiarity with the eccentric little man.
I (4) ..., not only in sister’s case, but in others as well, that we of the younger generation are not
nearly so cheerful and so impulsive as some of our elders. I often see old people (5) ... wide-
eyed and excited at the promise of some anticipated pleasure which totally (6) ... to upset the
calm of their grandchildren. (7)  ... we, I wonder, such genuine boys and girls as our seniors
were when they were young?

1.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (1).

1) was accepting 2) had accepted 3) accepted 4) was being accepted

2.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (2).

1) contrasting 2) being contrasted 3) contrasted 4) had contrasted

3.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (3).

1) had been astonished 2) has been astonished 3) astonished
4) was astonished

Вариант № 2888

2 / 12 РЕШУ ЦТ и ЦЭ — английский язык

4.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (4).

1) have noticed 2) had noticed 3) noticed 4) would notice

5.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (5).

1) had got 2) get 3) have got 4) got

6.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (6).

1) fails 2) has failed 3) will fail 4) will have failed

7.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (7).

1) Are 2) Were 3) Are being 4) Were being

Every October I like to go to France  (1)  ... my holidays. Last year I visited the Loire
Valley and I had the best two weeks of my life. I had such (2) ... good fun I cried when it was
time to leave. When I arrived (3) ... Calais, the sun was shining and I was glad I had decided to
go  (4)  ... camping. There are lots of campsites in the Loire, and I found a small one near a
beautiful castle. King Louis XIV had (5) ... castle built in order to impress a princess he wanted
to marry, but she rejected him for an English Duke. I fell in love with (6)  ... place at once.
Although October is late (7) ... camping, there were quite a lot of people staying there. It was
highly recommended in my guidebook and a friend of mine had also suggested to go to that
particular site. Most of the other campers were around (8) ... my age and I made friends with
several of them. Six of us have agreed to meet there again next year for another great holiday.

8.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (1).

1) on 2) during 3) for 4) at

9.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполните
пропуск (2).

1) a 2) an 3) the 4) -

10.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (3).

1) at 2) in 3) to 4) into

11.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (4).

1) by 2) for 3) on 4) -
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12.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (5).

1) a 2) an 3) the 4) -

13.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (6).

1) a 2) an 3) the 4) -

14.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (7).

1) at 2) for 3) on 4) by

15.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (8).

1) near 2) of 3) at 4) -

16.  Прочитайте предложения. Выберите один из предложенных вариантов ответа.
 

I think you should be... and say exactly what you think.
1) more honest 2) the most honest 3) a lot honester 4) much honest

17.  Прочитайте предложения. Выберите один из предложенных вариантов ответа.
 

I’ll explain again... you can understand the situation clearly.
1) so as 2) in order 3) so that 4) in case

18.  Укажите номер подчеркнутого фрагмента, в котором допущена ошибка.
 

Don’t you think (1) that a total of $2.000 (2) are far too expensive (3) for that stereo (4)?
1) 1 2) 2 3) 3 4) 4

19.  Укажите номер подчеркнутого фрагмента, в котором допущена ошибка.
 

That, was (1) a most boring (2) nine-hours flight (3) from here to New York (4).
1) 1 2) 2 3) 3 4) 4

20.  Укажите номер подчеркнутого фрагмента, в котором допущена ошибка.
 

If there’s excitement (1) that you want (2), this is just the place (3) for you (4).
1) 1 2) 2 3) 3 4) 4
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21.  Укажите номер подчеркнутого фрагмента, в котором допущена ошибка.
 

Fans (1) of her work (2) must have found this latest novel (3) rather disappointed (4).
1) 1 2) 2 3) 3 4) 4

22.  Укажите номер подчеркнутого фрагмента, в котором допущена ошибка.
 

If someone working for you (1) makes a bit of a mess (2), don’t take the assumption (3)
that they don’t care (4).

1) 1 2) 2 3) 3 4) 4

According to a recent study, your personality could determine how likely you are to
be (1) ... in an accident. In fact, it could be the most important (2) ... behind around a quarter of
all mishaps. The  (3)  ... have found that there are three key personality traits that can  (4)  ...
some people more accident prone than others. Firstly, high t levels of aggressiveness or
selfishness may  (5)  ... people more at risk of having accidents as individuals with these
characteristics are often highly competitive and therefore more likely to not follow instructions
and to  (6)  ... rules. It also seems that those who have very open personalities may also have
more accidents as these kinds of people can be dreamy and (7) ... concentration. Finally, people
who aren’t very dependable or (8)... may also be more at risk. Not everyone, however, agrees
with the study’s  (9)  ... . A spokesperson for an accident prevention organisation said: “We
must (10)  ... responsibility for our actions and educate people to prevent accidents instead of
blaming our personalities.”

23.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (1).

1) situated 2) involved 3) connected 4) occupied

24.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (2).

1) item 2) detail 3) point 4) factor

25.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (3).

1) inventors 2) investigators 3) researchers 4) explorers

26.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (4).

1) do 2) make 3) bring 4) take

27.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (5).

1) put 2) bring 3) carry 4) make



Вариант № 2888

5 / 12 РЕШУ ЦТ и ЦЭ — английский язык

28.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (6).

1) refuse 2) reject 3) ignore 4) deny

29.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (7).

1) fail 2) miss 3) lack 4) need

30.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (8).

1) responsible 2) appropriate 3) acceptable 4) suitable

31.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (9).

1) findings 2) discoveries 3) answers 4) solutions

32.  Прочитайте текст. Выберите один из предложенных вариантов ответа. Заполни-
те пропуск (10).

1) have 2) receive 3) draw 4) accept

33.  Прочитайте диалог. Ответьте на вопрос, следующий после диалога, выбрав один
из предложенных вариантов ответа.
 

Man: Triathlon? You seem a bit crazy having all these ambitions at 70!
Woman: I’ve never really been that typical ‘stay-at-home’ grandmother.

 
What does the woman mean ?

1) The woman is very ambitious 2) The woman’s behaviour is not typical of her age.
3) The woman does a lot of exercise in spite of her age.
4) The woman does exercise as part of a social event.

34.  Выберите реплику-стимул, подходящую по смыслу к предложенной ответной
реплике.
 

Neither, thank you.
1) Would you like to join us today and have fun?

2) Do you prefer to go on an outing?
3) Would you like vanilla or strawberry flavour? 4) Why not go out of town?
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35.  Установите соответствие между репликами-стимулами и ответными репликами.
Выберите один из предложенных вариантов ответа. Одна ответная реплика является
лишней.
 

РЕПЛИКИ-СТИМУЛЫ   ОТВЕТНЫЕ РЕПЛИКИ

1.  What do you like tea or coffee?
2.  Shall I carry the bag for you?
3.  What about going to the circus?
4.  Will you translate this passage for me?

 

A.  Agreed.
B.  Either will do.
C.  It sounds great.
D.  That will be helpful.
E.  Not sure I’ll be able to.

 

1) 1B2DЗС4E 2) 1D2CЗА4E 3) 1B2A3D4E 4) 1D2AЗЕ4C

36.  Расположите реплики так, чтобы получился связный диалог. Выберите один из
предложенных вариантов ответа.
 

A.  I don’t know, Darren. You’ve got to take some exercise...
B.  Walking is not exercise.
C.  Well, I play football.
D.  About twice a year... in the garden with the kids!
E.  A good long walk is a fantastic exercise.
F.    And I do yoga on Monday mornings, dance classes on Tuesdays, aerobics on

Thursdays, and I go jogging every Sunday. You never walk anywhere.
1) ACDFBE 2) AFBCDE 3) FEBCDA 4) FBEACD
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§ 1. It was the last day of July. The long hot summer was drawing to a close; and we, the
weary pilgrims of the London pavement, were beginning to think of the cloud-shadows on the
corn-fields, and the autumn breezes on the sea-shore.
§ 2, As for me, the fading summer had left me out of health, out of spirits, and, to tell the truth,
out of money as well. During the last year I had not managed my professional funds as
carefully as usual; and my overspending now meant I had to spend the autumn cheaply in my
mother’s cottage in Hampstead and my own rooms in town.
§ 3. The evening, I remember, was still and cloudy; the London air was at its heaviest; the
distant hum of the street traffic was at its quietest. I roused myself from the book which I was
dreaming over rather than reading, and left my office to meet the cool night air in the suburbs.
It was one of the two evenings in every week which I spent with my mother and sister, so I
turned my steps northward in the direction of Hampstead.
§ 4. Events which I have yet to tell make it necessary to say at this point that my father had
been dead some years, and that my sister Sarah and I were the sole survivors of a family of five
children. My father was a drawing master before me. His hard work had made him very
successful in his job, and because he was anxious about those who were dependent on him, he
had from the time of his marriage spent far more on insuring his life than most men consider
necessary. Thanks to his care my mother and sister were left, after his death, as independent of
the world as they had been during his lifetime. I followed him into his profession and had
every reason to feel grateful for the start he had given me.
§ 5. The quiet twilight was still trembling on to the top ridges of the heath; and the view of
London below me had sunk into a black gulf in the shadows of the cloudy night, when I stood
before the gate of my mother’s cottage.

37.  Прочитайте текст. Ответьте на вопросы.
 

At the end of the summer, the author felt
1) generally not very well. 2) depressed because summer was over.

3) unhappy because he had spent so much money.

38.  Прочитайте текст. Ответьте на вопросы.
 

Before he left his room the writer
1) was working 2) was asleep. 3) was day-dreaming with a book in his hand.

39.  Прочитайте текст. Ответьте на вопросы.
 

His father insured his life heavily because he
1) was afraid of dying. 2) was worried about his wife and children.

3) had a lot of debts.

40.  Прочитайте текст. Ответьте на вопросы.
 

Why was the writer thankful for his father’s efforts?
1) Because he didn’t have to work.

Вариант № 2888

8 / 12 РЕШУ ЦТ и ЦЭ — английский язык

2) Because he didn’t have to find home for his mother and sister.
3) Because he had had an easy start to his career.

41.  Определите значение указанного слова в тексте.
 
still (§3)

1) dull 2) clear 3) wet

42.  Определите значение указанного слова в тексте.
 
insuring (§4)

1) assuring 2) securing 3) reassuring



Вариант № 2888

9 / 12 РЕШУ ЦТ и ЦЭ — английский язык

Anne Carlisle explains the history and work of Britain’s police detectives.
Way back in 1828, the world’s first modern police force was created by Sir Robert Peel.

The Metropolitan Police Force of London made its home at the famous Scotland Yard and
quickly became the model for police forces around the world. But it would be another decade
before the Detective Branch of Scotland Yard was set up. This branch later became the
Criminal Investigation Department (commonly known as CID) and to this day remains the
main police department in Britain responsible for major crime investigation.

Becoming a plain-clothes detective in the CID is no easy task. Firstly, a police officer
needs to have served for at least two years as a uniformed officer. (1)____Once this period has
been completed the officer can then apply to go to a detective training school. However, there’s
no guarantee they will be accepted.

In order to become a detective, an officer needs to possess a wide range of skills and
qualities, the most obvious being complete honesty and good character. They also need to be
highly observant and to have good judgement. (2) ____An officer with all these skills could
more than likely find themselves being accepted to train as a detective.

Most of these ‘detectives-to-be’ discover that the really hard work begins once they get to
the training school. There, the officers receive intensive instruction in all areas related to
solving major crime. For instance, they will have to learn about psychology, which will come
in handy when they are questioning suspects and witnesses. Perhaps the most difficult subjects,
though, deal with learning all about the modem scientific methods now used in crime
detection.

Once our future Sherlocks have completed their initial training, they begin life as detective
constables and start working on unsolved crime cases in the CID. Most of the work they do is
not nearly as glamorous as it seems on TV and in novels. (3)____Not exactly fascinating work,
but essential all the same.

Apart from having to do painstaking investigative work, detectives also have a lot of
paperwork to deal with. (4)____Every detail of a crime and its investigation must be recorded.
Most detectives find the amount of clerical work they have to do the most frustrating part of
their job.

Nonetheless, it can be a very rewarding job; a detective gets great satisfaction knowing
they have solved a major crime. However, a detective’s job is still not over after a suspect has
been arrested and charged. (5)____Only when the offender is actually behind bars is the
detective’s goal achieved. Then there’s always the next case to tackle, of course.

In many ways, the detectives of today are similar to the ones of the past. Much of the work
has hardly changed at all. Detectives still have to ask questions and find answers.
(6)____Whether it is using computers or looking through a microscope, it all helps to get the
crime solved. In the end, just like the detectives we avidly watch on TV, they are heroes doing
everything in their power to get the bad guys off our streets.

43.  Прочитайте текст. Заполните пропуск (1) одним из предложенных текстовых
фрагментов.
 

1  — Last but not least, a high degree of patience is an absolute must as, believe it or not,
crime investigation can often be a very lengthy and boring process.

2  — During this time, the officer learns all the basics of general police work.
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3   — So great is the volume, that the police have set up road shows where victims can
search for their property.

4  — Typical mundane tasks include going house to house asking questions or searching
carefully through a suspect’s phone records for clues to a crime.

1) 1 2) 2 3) 3 4) 4

44.  Прочитайте текст. Заполните пропуск (2) одним из предложенных текстовых
фрагментов.
 

1  — Last but not least, a high degree of patience is an absolute must as, believe it or not,
crime investigation can often be a very lengthy and boring process.

2  — During this time, the officer learns all the basics of general police work.
3   — So great is the volume, that the police have set up road shows where victims can

search for their property.
4  — Typical mundane tasks include going house to house asking questions or searching

carefully through a suspect’s phone records for clues to a crime.
1) 1 2) 2 3) 3 4) 4

45.  Прочитайте текст. Заполните пропуск (3) одним из предложенных текстовых
фрагментов.
 

1  — Last but not least, a high degree of patience is an absolute must as, believe it or not,
crime investigation can often be a very lengthy and boring process.

2  — During this time, the officer learns all the basics of general police work.
3   — So great is the volume, that the police have set up road shows where victims can

search for their property.
4  — Typical mundane tasks include going house to house asking questions or searching

carefully through a suspect’s phone records for clues to a crime.
1) 1 2) 2 3) 3 4) 4

46.  Прочитайте текст. Заполните пропуск (4) одним из предложенных текстовых
фрагментов.
 

1    — The main difference is the technology and modern science now available to help
them.

2  — For every investigation, forms have to be filled in and reports written.
3  — In fact, it is nothing like it used to be.
4  — In addition to catching criminals, they have to give evidence in court.

1) 1 2) 2 3) 3 4) 4
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47.  Прочитайте текст. Заполните пропуск (5) одним из предложенных текстовых
фрагментов.
 

1    — The main difference is the technology and modern science now available to help
them.

2  — For every investigation, forms have to be filled in and reports written.
3  — In fact, it is nothing like it used to be.
4  — In addition to catching criminals, they have to give evidence in court.

1) 1 2) 2 3) 3 4) 4

48.  Прочитайте текст. Заполните пропуск (6) одним из предложенных текстовых
фрагментов.
 

1    — The main difference is the technology and modern science now available to help
them.

2  — For every investigation, forms have to be filled in and reports written.
3  — In fact, it is nothing like it used to be.
4  — In addition to catching criminals, they have to give evidence in court.

1) 1 2) 2 3) 3 4) 4

In an era when family cars are about as  (1)  ... as fridges, Volkswagen has taken the
most (2) ... car of all time, the ‘Beetle’, back to the (3) ... board and given it a (4) ... look.

49.  Прочитайте текст. Выберите подходящее по смыслу слово из предложенных. B
ответ запишите слово в той форме, в которой оно должно стоять в предложении. Помни-
те, что каждое слово может быть использовано только один раз и что заданную форму
слова необходимо изменить. Заполните пропуск (1).
 

FUTURE, SUCCESS, DRAW, CHARISMA

50.  Прочитайте текст. Выберите подходящее по смыслу слово из предложенных. B
ответ запишите слово в той форме, в которой оно должно стоять в предложении. Помни-
те, что каждое слово может быть использовано только один раз и что заданную форму
слова необходимо изменить. Заполните пропуск (2).
 

FUTURE, SUCCESS, DRAW, CHARISMA

51.  Прочитайте текст. Выберите подходящее по смыслу слово из предложенных. B
ответ запишите слово в той форме, в которой оно должно стоять в предложении. Помни-
те, что каждое слово может быть использовано только один раз и что заданную форму
слова необходимо изменить. Заполните пропуск (3).
 

FUTURE, SUCCESS, DRAW, CHARISMA
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52.  Прочитайте текст. Выберите подходящее по смыслу слово из предложенных. B
ответ запишите слово в той форме, в которой оно должно стоять в предложении. Помни-
те, что каждое слово может быть использовано только один раз и что заданную форму
слова необходимо изменить. Заполните пропуск (4).
 

FUTURE, SUCCESS, DRAW, CHARISMA

For many people, the choice (1) ... school is just a matter of public or private. However,
for a rapidly growing  (2)  ... of parents and children, school has nothing to  (3)  ... with
classrooms, teachers or school uniforms. For them, there is simply no place (4) ... home when
it comes to education

53.  Прочитайте текст. Заполните пропуск (1) только одним словом, подходящим по
смыслу. Слово должно содержать не более 15 символов.

54.  Прочитайте текст. Заполните пропуск (2) только одним словом, подходящим по
смыслу. Слово должно содержать не более 15 символов.

55.  Прочитайте текст. Заполните пропуск (3) только одним словом, подходящим по
смыслу. Слово должно содержать не более 15 символов.

56.  Прочитайте текст. Заполните пропуск (4) только одним словом, подходящим по
смыслу. Слово должно содержать не более 15 символов.

57.  Прочитайте текст. Выпишите по два лишних слова в порядке их предъявления в
тексте.
 

Nowadays it seems as that not everybody wants to go on holiday to relax. Although most
of us are quite happy to go somewhere warm and lie on a beach all day, there are some people
who can’t sit still for more than an hour without be getting bored.

58.  Прочитайте текст. Выпишите по два лишних слова в порядке их предъявления в
тексте.
 

These are the kind of people who they are now choosing to go on adventure holidays,
where there are almost too many of things to do! Activities on offer include horse-riding, rock-
climbing, windsurfing and scuba diving, depending on where the holiday centre is.

59.  Переведите на английский язык фрагмент предложения, данный в скобках.
 

I haven’t met (ни один) of his parents so I don’t know what they’re like.

60.  Переведите на английский язык фрагмент предложения, данный в скобках.
 

Mike had nothing to do with that, (не так ли)?


